QID: 101 -
In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eafia vy & i or Rreul & @ wy B
(?) & TUH W HE Tl FEA H @A

AL N AR

Options:
1) 32

2) 64
3) 34

4) 20
Correct Answer: 34
Candidate Answer: 34

QID:102-
How many triangles are there in the given figure?

& ot st 3 e g ¥
T~

Options:
1)5

2)4
3)3

4)6
Correct Answer: 5
Candidate Answer: 6




QID : 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from O to 4 and
thatl of Matrix-Il are numbered from 5 to 9. A lelter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 01, 65, elc., and ‘A’ can be represented by 44, 95, etc.
Similarly, you have to identify the set for the word “CAMP”.

UH QG hdd U TR &R ceffar wRm € oRwr fn fwedt & @
fod wem & Ty o ) fawedt @ {u oo gewrmee Hal b gy avlf
gRY geiie € St B Ro e &) sreept # R e B wawer A
afts  wewr o ¥ 4 ¥ 3R segEnd 5 W 91 s ey ¥ ww 3aw
o ool 3R df 3R ag # vars gwn g gt s oaswar
seIeLor & [T ‘K@t 01, 66, HIfe GRT e S awdr & aur A’ @ 44,
95, yife grr gaifar o mwar ¥ 5@ aw @ 3w wm & Ru g
“CAMP” & T T ! Tamaar

Matrix-1 Matrix-l

gl Jreg-Il
o0l12(3]4 5|16|7|8|9
CiVIK|D|F|R S5|(W|C|U|G|I
1|C{W|O|H|V 6| K[I|H[Q|S
2| T|S|[Y[J]|S TIU[E|Y|B|A
3|H|[F[I]|C[R 8|F|H|P|L|N
A|D|S|U|N|A 9|A|RIM|T|O

Options:
1) 10, 44, 11, 41

2) 56, 97, 67, 43
3) 58, 44, 59, 87

4) 33, 79,97, 87
Correct Answer: 33, 79, 97, 87
Candidate Answer: 33, 79, 97, 87

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

&1 % 3 A # W 3W s AEA & ghaw
form & vy sl BT

®




Options:
1)

BN

2)

4)

| -

Correct Answer:

/

f

Candidate Answer:

/

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

Hied T 39T HHIG WF AP & wideT @ g
HLIN?

\N [/
/1

| e = == T e W




Options:
1)

T

Correct Answer:

B

Candidate Answer:

B

QID : 106 -
If 2 mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Iff T TUT FT AB @ 0T T@T S, & & TS
TaY ATEEAr # U wia W ETa uer ey
Té ufafers gefi?

A
© <

W 777777777

| == —n s = ==




Options:

)
M A
v o

A I
© <

Correct Answer:

m A
v o

Candidate Answer:

m A
o

QID: 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

d=r F uy e # @ sgER @ @
AZHT Ded AT Wreld & A6 T8 fhd 3w- 3Hia

e s geme

/A A

b




Options:
1)

N

W

£

Dl | D] P

Correct Answer:

D

Candidate Answer:

P

QID : 108 - If 'A" means "+', 'B' means "', 'C' means ="' and 'D' means "X', then

7A11B13D3C39="?
T A BT 3 '+, "B BT o =, 'C @l oref '+ T D BT 3 % Fl, @

7A11B13D3C39=7?
Options:

1) 27

2)17

3) 19

4) 32

Correct Answer: 17
Candidate Answer: 17

QID:109-1f13% 7 + 4 = 16 and 14 % 6 =+ 3 = 17, then
23%7+2=?
qC13% 7 +4=16TU14% 6 +3 =178,

23%7+2=7?
Options:

Correct Answer: 28
Candidate Answer: 28

| == —n s = ==

o e W]



QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Print
2. Prawn
3. Pager
4, Paste
5. Pain

FAfIEd Uedl B Usad = H S I HF P SIUR o |

1. Print
2. Prawn
3. Pager
4. Paste
5. Pain

Options:
1) 35421

2) 34512
3) 45321

4) 43512

Correct Answer: 35421

Candidate Answer: 35421

QID : 111 - In the following question, select the missing number from the given series.
9,11, 20,31,51,?

FafaRed v § fou T f9wed § 9 g i 1d sl

9,11, 20,31,51,?
Options:
1)91

2) 84
3) 76

4) 82
Correct Answer: 82
Candidate Answer: 82

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ACE, HIL, 0QsS, ?

TP Sy o T B, O § ue U qw 81 feu e fawed ¥ & a8 W fidwed gAY, S SiwH B @ |

ACE, HIL, 0QS, ?
Options:

1) TVX

2) TUV

3) VXZ

4) UWY
Correct Answer: VXZ
Candidate Answer: VXZ

QID : 113 - In the following question, select the odd word from the given alternatives.

Froferiaa uy & 3w e fawed # I faww 2ee 31 9w
Options:

1) Water

SIet

2) Glass

ey

3)v Coffee
PHIHT

4) Tea
I




Correct Answer: Glass

Candidate Answer: Glass

QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frafafea uy o fow T fawe o § fawy @ gm 1 gful
Options:

1) 14 - 2744

2) 18 — 5832

3) 10 - 10000

4) 19 - 6859

Correct Answer: 10 - 10000
Candidate Answer: 10 — 10000

QID : 115 - In the following question, select the odd letters from the given alternatives.
Fraferea we 7 fou U 9wt & 4 fawd sieri &1 gfu)

Options:

1) ABC

2) MNO

3) RST

4) PQM

Correct Answer: PQM

Candidate Answer: PQM

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Currency, Dollar, Pound

Ig o gAY ot A f3u T ool & <t & ey o1 wel U ot

I, SieR, TISS
Options:
1)

N

W

Y

~— — —
.

Correct Answer:

| =SS e = == R TR i —==—a— e r————_



Candidate Answer:

QID : 117 - In the following question, select the related word from the given alternatives.
Palette : Colours : : Report card : ?

Frafafed uy o fdu e el § O Haifda sz &1 ghul

e : & Rud o : ?

Options:

1) Marks

3

2) Syllabus

qiodsh |
3) Homework

4) Attendance
Iufefa

C_orrect Answer: Marks
3h

Candidate Answer: Marks
3

QID : 118 - In the following question, select the related number from the given alternatives.
83:9::146:?

FrafaRed vy # fou T e & 3 Hafia e &1 ghuy

83:9::146:?

Options:

1) 12

2) 14

3) 10

47
Correct Answer: 12
Candidate Answer: 12

QID : 119 - In the following question, select the related letters from the given alternatives.
PM:LI::BY:?

Fafared oy # fou e fawe § ¥ el okl 31 gl

PM:LI::BY:?

Options:

1) Wv

2) XU

3) XV

4) WU
Correct Answer: XU
Candidate Answer: XU

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
UNEXCITABLE
Frafefed faeed @ & 98 Wsg g Sl fQT 7T et & 3H&RT BT UGNT HIb Tg1 ST Sl FehelT|

UNEXCITABLE




Options:
1) BLADE

2) EXIT
3) BITE

4) TABLE
Correct Answer: BLADE
Candidate Answer: BLADE

QID : 121 - Weight of W is twice that of X. Weight of X is 1/3 of Y. Weight of Y is 3 times of Z. Weight of Z is 1/4 of A. Who is the heaviest?

WHURX BTG GI X PTURY BT 1/3 8| Y BT UR Z BT 3 T 81 Z BT YR A BT 1/4 §1 TG4 U S g2
Options:
1)A

)W
3)Y

4) X
Correct Answer: A
Candidate Answer: W

QID: 122 - W, X, Y, Z and A are sitting in a line facing west. W and X are sitting together. Y is sitting at south end and Z is sitting at north end. A is neighbour of X
and Z. Who is sitting in the middle?

%vé[xév,zaﬁmwﬁ%ﬁmﬁsh?g@m%%%l W YT X TP T 96 B 1 Y S0 BR TR I61 3 T4 Z IR SR W AT 81 A, X T4 Z HT IS 81 ALY H B
?

Options:
1)A

2)z
3) X

49H W
Correct Answer: X
Candidate Answer: X

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All kites are red.
II. No red is blue.

Conclusions:
I. Some kite are blue.
II. No kite is blue.

T U T Uy T 9 HY AR I 91¢ I B! R Neia o Fse fau U €, graifes 37 g 91a awdi 9 v 81 et 81 9 e o o ftke Peffa
& 5 U e o § ey, f3u U et % R W g §

DY:
L. 9 g @ma §
I1. ®13 ard =iar T8l g1

farepd:

L. B9 Ua el €1

1. 1S e el et Bl
Options:

1) Only conclusion (I) follows.
Faa fpd (1) T 31

2) Only conclusion (II) follows.
Faa fwed (11) T 2

3) Both conclusion follow.

T &t forsad gt B

4) Neither conclusion (I) nor conclusion (II) follows.

T e (1) 7 € e (11) T B




Correct Answer: Only conclusion (II) follows.
Faa ey (11) Wet 81

Candidate Answer: Only conclusion (II) follows.

Fael ey (11) 98 B

QID : 124 - In a certain code language, "HATCH" is written as "IXVZJ". How is "SEDAN" written in that code language?

o AR Bis 4w H, "HATCH" &1 "IXVZ3" foral ST 81 59 %S UINT § "SEDAN" & fy YR ferar s
Options:
1) UBFXP

2) CVFYP
3) FXPVB

4) HYWzZM
Correct Answer: UBFXP
Candidate Answer: UBFXP

QID : 125 - In a certain code language, "VIRGE" is written as "19635" and "LOAD" is written as "7480". How is "GLOVE" written in that code language?

% IR Fis 4w H, "VIRGE" $1 "19635" TT "LOAD" HI "7480" foRaT WIaT §1 39 HIs HIW H "GLOVE” ! fd YR ferar smwm?

Options:
1) 37415

2) 34175
3) 56437

4) 96035
Correct Answer: 37415
Candidate Answer: 37415

QID : 126 - If 101 x 102 x 103 is divided by 10, then what will be the remainder?

Tf 101 x 102 x 103 HI 10 ¥ fauifora fasar 98, O ASHa 1 FIM?
Options:

1)5

2)6

3)4

4)8

Correct Answer: 6

Candidate Answer: 6

QID : 127 - What is the value of 249 x 251?

249 x 251 BT HH FT1 82
Options:
1) 64599

2) 62099
3) 62499

4) 64499
Correct Answer: 62499
Candidate Answer: 62499

QID : 128 - What is the value of [(5.3)3 — (3.8)3]+ [(5.3)? + (3.8)2 + (5.3) x (3.8)?

[(5.3)% - (3.8)3]% [(5.3)2 + (3.8)2 + (5.3) x (3.8)] BT UM &1 §?
Options:

1) 2.25

2)2.7

3)1.3

4) 1.5

Correct Answer: 1.5

Candidate Answer: 1.5




QID : 129 - Which of the following statement is true?

I.4v3>3v2
II. 3V2 > 6V5

fFaffed § § o 9 oy 99 22

I.4vV3>3v2
IL. 3v2 > 65
Options:
1)Only I
Fad 1

2) Only II

Had 11
3)BothIandII
19T 11 S

4) Neither I nor II
AWIAE

Correct Answer: Only I

Fad 1

Candidate Answer: Only I
Pad 1

QID : 130 - If 84B78 is divisible by 11 then, what is the value of B?

Ife 84878, 11 9 fauRdia B, A B &1 A 1 82
Options:

1)4

2)6

3)3

41

Correct Answer: 6

Candidate Answer: 6

QID : 131 - What is the value of 22 + 4% + 62 + ... 2022

24+42 4624 ... 202 BT U 71 §?
Options:

1) 1470

2) 1630

3) 1820

4) 1540
Correct Answer: 1540
Candidate Answer: 1540

QID : 132 - A, B and C undertook a work for Rs 26000. Together A and B complete (9/ 13)th part of the work. What is the share (in Rs) of C?

A, BT C 3 T% B HI 26000 T H foram| A 7T B fraesR o/ &1 (9/13)-af o 1 #va €1 ¢ o1 e (3 ) | &
Options:

1) 10000

2) 8000

3) 12000

4) 7000

Correct Answer: 8000
Candidate Answer: 8000

QID : 133 - Three taps A, B and C can fill a tank in 90, 10 and 18 hours respectively. If all the taps are opened together, then in how many hours will the tank be
filled?

o 7T A, B TUT C U ] HI HA: 90, 10 AT 18 € | 1R I &1 afe Tl 7l &1 v Iy Wit i3 9, it <ot fpaey ©e 7 4R wnefte
Options:
1) 4

2)6
3)8

4)2
Correct Answer: 6




QID : 134 - The length of two parallel sides of a trapezium are 40 cm and 50 cm. If the area of the trapezium is 180 cm?, then what is the value of its height (in
cm)?

TP JHAR B <) JHAR YTl 31 Tars 40 A, 71 50 9.1 B1 9 wrens &7 d5ha 180 .2 8, A SUP! g &1 0F (.4 F) | E?
Options:

1)6

2)4

3)2

4)8

Correct Answer: 4

Candidate Answer: 4

QID : 135 - The cost price of an article is 81% of the marked price. What is the gain percentage after allowing a discount of 10% on the marked price?

ot axg &1 4 Y & Siferd Yo BT 81% ¢ SHfhd T W 10% B Pe & & T A TR T g2
Options:
1) 11.11

2)9.09
3) 125

4)7.5
Correct Answer: 11.11
Candidate Answer: 11.11

QID : 136 - A trader gives a discount of 15% on the marked price. To earn profit of 19%, by how much percent should he mark the price of his goods higher than
its cost price?

o AR SHfhd T TR 15% DI Fe Gl §1 19% BT AH U B & T8 I U+ a¥gefi & I, o Ted ¥ e ufawrd siffies sifted &3 anfge?
Options:
1)25

2) 40

3) 30

4) 35

Correct Answer: 40
Candidate Answer: 40

QID:137-IfM:N=3:5andM:0 =4:6, thenwhatis (M + N) : (N + O)?

GRM:N=3:5dUTM:0=4:68, A (M+N): (N+0)FTg?
Options:
1)19:15

2)16: 19
3)15: 19

4)25:16
Correct Answer: 16 : 19
Candidate Answer: 16 : 19

QID : 138 - If the sum of two numbers is equal to two times of their difference, then what is the ratio of the numbers?

I <1 WRESht BT AT I SR BT SR 8, I TSSH T SFUTd T 52
Options:
1)4:3

2)1:2
3)3:5

4)3:1
Correct Answer: 3:1
Candidate Answer: 3: 1




QID : 139 - Average of 19 numbers is 15. If a number 25 is also included, then what will be the average of these 20 numbers?

19 Tl &1 3d 15 §1 3 U T 25 1+ 2nfire o= foran 9, < 399 20 SRemsh o7 Shad 31 gm?

Options:
1) 14.5

2) 16.5
3) 155

4) 17.5
Correct Answer: 15.5
Candidate Answer: 15.5

QID : 140 - An article was sold at 15% gain. Had it been sold for Rs 195 more, then the gain would have been 30%. What is the cost price (in Rs) of the article?

TH TR BT 15% Y W 591 T 1S T/ 195 T 4R T R J= I, A 30% BT A1 Sl axg o1 67 T (3 H) 1 82
Options:

1) 1100

2) 2200

3) 1300

4) 1950

Correct Answer: 1300
Candidate Answer: 1300

QID : 141 - A man buys a toy for Rs 40 and sells it for Rs 60. What is his gain percent?

e fa U AT 40 % 8§ Tladr § 9u 99 60 S § Srgar § | ST Y Ul @ 87
Options:
1) 30

2) 50
3)75

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 142 - A man saves 12% of his income in 6 months. If he wants to save the same amount in 4 months, then by how much percentage should he increase his
monthly savings?

TP AR 6 UEH # 3T 31T BT 12% AT &1 1S I8 St 81 AR 4 7 § S9M1 =rear 8, O S ) My s fpam ufaza ¥ sl =nfge?
Options:
1) 33.33

2) 50
3) 66.66

4) 25
Correct Answer: 50
Candidate Answer: 33.33

QID : 143 - Jis 10% more than K. K is 10% less than L. L is 10% less than M. If M is 2000, then what is the value of J?
3, K 10% 3% B1 K, LY 10% FH B L, M ¥ 10% HH g1 a3 M, 2000 B, & J T AF 1 82

Options:

1) 1844

2) 1806

3)1782

4) 1756
Correct Answer: 1782
Candidate Answer: 1782

QID : 144 - A train running with a speed of 3 km/hr, crosses a telephone pole. If the length of train is 900 meters, then what is the time taken (in seconds) by the
train to cross the pole?

T 3 fr. 1. /de B T I a e e e e e e ang, e A AR UR v | fohaeT 99 (FHUS )




Options:
1) 1000

2) 1080
3) 1020

4) 900
Correct Answer: 1080
Candidate Answer: 1080

QID : 145 - A 950 meters long train crosses a 850 meters long bridge. If the speed of train is 60 km/hr, then what is the time taken (in seconds) to cross the
bridge?

T 950 HicR Tl XerTIE!, Ueh 850 Hier Tl ol UR Sl ¢ | IfG Yae! @t TIid 60 135,71 /8e1 €, @ 9a UR A ¥ a1 97a ([Ipus H) foran mam g2
Options:
1) 120

2) 108
3) 115

4) 102
Correct Answer: 108
Candidate Answer: 108

QID : 146 - What is the sum (in Rs) of money which became Rs 17545 at the rate of 10% per annum at compound interest in two years?

g YR (3 ) 71 § S0 <IN F 10% BT P o1 @R Iehgfg I W 17545 3 B 152
Options:
1) 14500

2) 13800
3) 12800

4) 15200
Correct Answer: 14500
Candidate Answer: 14500




QID: 147 -
The line chart given below shows the number of tourists
(in 000’} in Mumbai and Amritsar.

@ fm om Y@ R # qeed U e # uded
#r FEar (000’ A) =TT =

= Mumbai / %ﬁé‘ == Amritsar / 3{H5dHT
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£3 200

(=]

m e
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= &
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=

3 0 ; : .

= o — 0 (o] -t (1]
(] o o (o] [an ] (an )
o o o (e} o o
(Y] (] [} (] (o] (]

Year /9§

What is the maximum difference (in 000") between the number of tourists in Mumbai and Amritsar for any year?

Tas quT SR | et ot 9y % fom wiew! 391 Wem & ne sifiead S (000 H) F7 82
Options:
1)68

2) 52
3) 100

4) 80
Correct Answer: 80
Candidate Answer: 80

| == —n s = == WU =t —iar—nruay




QID: 148 -

The line chart given below shows the number of tourists

(in 000’} in Mumbai and Amritsar.

@ fm om Y@ R # qeed U e # uded

#r FEar (000’ A) =TT =

= Mumbai / %ﬁé‘ == Amritsar / 3{H5dHT

S o~ 250 -
SE 200
£3 200
(=]
m e
B 150 -
gE 100
= &
EE 50 -
=
3 0 .
= o — 0 (o] -t (1]
(] o o (o] [an ] (an )
o o o (e} o o
(Y] (] [} (] (o] (]
Year /9§

What is the percentage change in the number of tourists in Mumbai from year 2003 to year 2004?

Iy 2003 F T¥ 2004 7P a3 & Tied! @t Ge § HfaRa gikadH 31 82
Options:
1) 25

2)20
3) 16

4) 68
Correct Answer: 20
Candidate Answer: 20

| == —n s = ==




QID: 149 -
The line chart given below shows the number of tourists
(in 000’} in Mumbai and Amritsar.

@ fm om Y@ R # qeed U e # uded
#r FEar (000’ A) =TT =

= Mumbai / %ﬁé‘ == Amritsar / 3{H5dHT

S o~ 250 -
SE 200
£3 200
(=]
m e
B 150 -
gE 100
= &
EE 50 -
=
3 0 .
= o — 0 (o] -t (1]
(] o o (o] [an ] (an )
o o o (e} o o
(Y] (] [} (] (o] (]
Year /9§

The number of tourists in Amritsar in year 2005 is what percent of the number of tourists in Mumbai in year 2001?
Ty 2005 & ofyaeR § wiesd! 31 e avf 2001 § 4a8 & wies ot S© &1 fha ufoxa 82

Options:

1)75

2) 80

3) 120

4) 70
Correct Answer: 80
Candidate Answer: 120

| == —n s = == WU =t —iar—nruay




QID: 150 -
The line chart given below shows the number of tourists
(in 000’} in Mumbai and Amritsar.

@ fm om Y@ R # qeed U e # uded
#r FEar (000’ A) =TT =

= Mumbai / %ﬁé‘ == Amritsar / 3{H5dHT

S o~ 250 -

SE 200

£3 200

(=]
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gE 100
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EE 50 -

=

5 0 L — : : : : v

= o — 0 (o] -t (1]
(] o o (o] [an ] (an )
o o o (e} o o
(Y] (] [} (] (o] (]

Year /9§

What is the average number (in 000") of tourist in Mumbai from year 2000 to year 2004?

T 2000 ¥ G 2004 TH 43 T Wew! @t Ad T=AT (000" F) 1 82
Options:
1) 150

2) 146
3) 168

4) 172
Correct Answer: 146
Candidate Answer: 146

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The Justice Minister urged lawmakers (1)/ to back the bill and says that the (2)/ government would listen to the concerns (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The opposition Party had called to its (1)/ lawmakers to vote against the bill (2)/ if the government failed to make concessions (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

= = = T e e WY 1




QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Power yoga is exercise to reduce the belly fat.
Options:

1) a best

2) the best

3) one of the best

4) an best

Correct Answer: the best
Candidate Answer: the best

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Megha has an for music.
Options:

1) attitude

2) intuition

3) aptitude

4) imagination
Correct Answer: aptitude
Candidate Answer: aptitude

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Panorama
Options:
1) Scene

2) Hide
3) Conquer

4) Rise
Correct Answer: Scene
Candidate Answer: Conquer

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Peculiar

Options:

1) Normal

2) Regular

3) Usual

4) Strange
Correct Answer: Strange
Candidate Answer: Strange

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Realm

Options:

1) Chubby

2) Field

3) Treason

4) Copy
Correct Answer: Field
Candidate Answer: Field

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Unforeseen

= = =— RIS —iarneriay i A 1




Options:
1) Surprising

2) Accidental
3) Expected

4) Sudden
Correct Answer: Expected
Candidate Answer: Expected

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Include

Options:

1) Admit

2) Build

3) Comprise

4) Reject
Correct Answer: Reject
Candidate Answer: Reject

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Overt

Options:

1) Clear

2) Open

3) Hidden

4) Visible
Correct Answer: Hidden
Candidate Answer: Open

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Over head and ears

Options:

1) Very loud

2) Very excited

3) Completely trapped

4) Very angry
Correct Answer: Completely trapped
Candidate Answer: Very loud

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Giving a piece of one’s mind

Options:

1) To flatter someone

2) To express oneself

3) To rebuke someocne

4) To encourage someone
Correct Answer: To rebuke someone
Candidate Answer: To express oneself

QID : 163 - Improve the bracketed part of the sentence.

Residents (says) the firing lasted just around 10 minutes, indicating at a well-planned trap.




Options:

1) said

2) tells

3) complains

4) No Improvement
Correct Answer: said

Candidate Answer: said

QID : 164 - Improve the bracketed part of the sentence.

“Militant leadership (are to be) eliminated because they also misguide our children and lure them into this,” said Inspector General of Police.
Options:

1) has to be

2) were to be

3) would have be

4) No Improvement
Correct Answer: has to be
Candidate Answer: has to be

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One for whom money is the most important thing
Options:
1) Materialistic

2) Divine
3) Disciple

4) Extravagant
Correct Answer: Materialistic
Candidate Answer: Materialistic

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who hates reasoning
Options:
1) Misologist

2) Abortionist
3) Destructionalist

4) Prohibitionist
Correct Answer: Misologist
Candidate Answer: Misologist

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Chocolact

2) Choclate

3) Chokelate

4) Chocolate
Correct Answer: Chocolate
Candidate Answer: Chocolate

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Commentory

2) Comentary

3) Commentary

4) Comenttary
Correct Answer: Commentary

= = = WU =t —iar—nruay 1




QID : 169 - Rearrange the parts of the sentence in correct order.

An equitable distribution of

P: for a sustained quality

Q: of life and global peace

R: resources has become essential

Options:
1) RPQ
2) QRP
3) PQR

4) RQP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 170 - Rearrange the parts of the sentence in correct order.

Ploughing along the
P: contour lines can
Q: water down the slopes
R: decelerate the flow of

Options:
1) PRQ

2) QPR
3) RQP

4) QRP
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire

resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

where even now about fifty percent people are .
Options:

1) illiterate

2) educated

3) literate

4) experienced

Correct Answer: illiterate

Candidate Answer: illiterate

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

country must be mobilized to wage a against
Options:

1) support

2) war

3) ceasefire

4) truce

Correct Answer: war

Candidate Answer: war




QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to

the utmost. School buildings must be thrown for the illiterate adults in the evening.

There should be a for students,
Options:

1) optional

2) easy

3) compulsion

4) temporary

Correct Answer: compulsion

Candidate Answer: compulsion

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to

the utmost. School buildings must be thrown for the illiterate adults in the evening.

personnel must be to the utmost.
Options:
1) halt

2) stop
3) demobilize

4) mobilized
Correct Answer: mobilized
Candidate Answer: mobilized

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The task is not easy in a country where even now about fifty percent people are . But, however difficult, it can be done. It is being done in China. The entire
resources of the country must be mobilized to wage a against ignorance and illiteracy. Governments must spend the maximum amount for this object, as
they would have done in a war against an enemy. There should be a for students, and conscription of workers. Non-teaching personnel must be to
the utmost. School buildings must be thrown for the illiterate adults in the evening.

be thrown for the illiterate adults
Options:
1) open

2) close
3) shut

4) fold
Correct Answer: open
Candidate Answer: open

QID : 176 - Generally people engaged in which activity face seasonal and disguised unemployment?

ST TR WR o5 mfafafer & et e draedt qur fodht SRS &1 AT &vd §?
Options:

1) Service

gl

2) Agriculture

3) Manufacturing

fafmfor

4) Construction
Correct Answer: Agriculture

Candidate Answer: Agriculture
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QID : 177 - Increase in unemployment indicates which type of economy?

RSTR # 9fg T 50 UopR 31 srforary &1 Ypfae Har 82
Options:

1) Healthy

WY

2) Depressed

3{a-d

3) Developed

[GEARG]

4) Stagnant
R

Correct Answer: Depressed

K CER

Candidate Answer: Depressed
3{d-d

QID : 178 - Directive principles of state policy in Indian constitution has been taken from which country's constitution?

YRS e F w7 M & e Rigidl o1 fow <xr & Ifgus 3 forr man 82
Options:
1) Irish constitution
GIEEIE]
2) US constitution
SRt digum
3) British constitution
fiqem
4) Australian constitution
< BICEICE
Correct _Answer: Irish constitution
SRR Wige
Candidate Answer: Irish constitution

SRR Wi
QID : 179 - Under which article supreme court of India issues writs?

4 g ¥ I5d YR & YdTe e ST SR 6 62
Options:
1) Article 20
3Tw5a 20
2) Article 56
56
3) Article 68
3G 68
4) Article 32
3G 32
Correct Answer: Article 32
TG 32
Candidate Answer: Article 32

34 32

QID : 180 - Which among the following was NOT a Chinese pilgrim to India?

fafared & o YRd 8 ta I diefash a8t an
Options:

1) Al-Biruni

Sfa-foret

2) Fa-hien

:.3) Xuan Zang

Y3 Wi

4) I-Sing
-RiT

Correct Answer: Al-Biruni

3{¢-

Candidate Answer: Xuan Zang
GEIEEE)

QID : 181 - What was Akbar's age when he became emperor?




Options:

1)9

2) 13

3)15

4) 17

Correct Answer: 13
Candidate Answer: 13

QID : 182 - The Earth rotates by what degree in four minutes?

Tt TR e & fasa siwr gw et 82
Options:

1) 4°

2) 10°

3) 36°

4)1°

Correct Answer: 1°

Candidate Answer: 1°

QID : 183 - Which strait connects Arctic Ocean with the Pacific Ocean?

P I ST 3Theds HEHEIR $I Uid FEHIR 9 Sisdl 8?
Options:

1) Gibraltor Strait

ToTsiTeeR STerify

2) Dover Strait
Sl Sefy

3) Berring Strait
ST STerfey

4_) Sunda‘ Strait
g1 iy
Correct Answer: Berring Strait

T Sty

Candidate Answer: Gibraltor Strait

QID : 184 - Bowman's capsules are found in

T o # u1e 9§
Options:

1) Kidney of mammals

TYINET BT &t

2) Heart of mammals

wARar 1 feq

3) Liver of mammals

TR & R

4) Cerebellum of rabbit

TN B

Correct Answer: Kidney of mammals
el 31 af

Candidate Answer: Liver of mammals
FATRET & R

QID : 185 - The maximum possible volume of air, which can be inhaled by humans, is called as

a1 P Sifman Gya AE, R ST gR1 g o forn S 9% 8, #1 EZ SN
Options:
1) Inspirations capacity
URUT &fHTT
2) Vital lung capacity

S 1 &l
3) Residual volume

HET

4) Total lung capacity
T BHS DI &
Correct Answer: Total lung capacity
Pd BHS Bl A
Candidate Answer: Vital lung capacity
Heayul Bwhs DI &




QID : 186 - What is broad, green part of leaf called?

T % U g U B R Fed 82
Options:

1) Base

ad

2) Top

qdg

3) Petiole

4) Lamina
el

Correct Answer: Lamina
Db

Candidate Answer: Lamina
Tdd

QID : 187 - The SI unit of density is .

T P T, 3. IHhls |

Options:
1) kg m3

2)gcm’
3) kg2

4) g m3
Correct Answer: kg m3
Candidate Answer: kg m™

QID : 188 - When an object is lifted vertically upwards from ground, then its .

9 TP a5 D! I § AT IR BT 3R IS Il 8, T ST [
Options:
1) potential energy decreases

fufas Sof gedt &
2) potential energy increases
o ol e &

3) potential energy remains same
IO Ed §

4) none of these

T A BIE T

Correct Answer: potential energy increases

Candidate Answer: potential energy increases

QID : 189 - What is the process of transferring files from internet to computer memory called?

gevie ¥ pre’ A § Brsdl B RIMART $7 Bl Ufshar @ 82
Options:

1) Uploading

SUAST

2) Downloading
3) Bookmarking
4) Hyperlinking
Correct Answer: Downloading

Candidate Answer: Downloading

QID : 190 - Which of the following are isomers?
frafafed ¥ 9 o & guagdt §2




Options:

1) Ethane and Propane

O U WO

2) Methane & Methene

T qur W=

3) Propane & Propene

IO T g

4) Butane and Isobutane

S qT

Correct Answer: Butane and Isobutane
S TUT ST

Candidate Answer: Butane and Isobutane

ST T ST
QID : 191 - The substance that looses electrons is called

SR B EF Al yarf __ Fgani gl
Options:
1) oxidizing agent

e 5

2) reducing agent
SUAID HRP
3) catalyst
JARSD

4) None of these

ERCR Rl

Correct Answer: reducing agent
SUAIH HRP

Cendidate Answer: oxidizing agent

QID : 192 - Food web is a system of interlocking and interdependent .

TreI 39 Y a1 T ek R R T YOIl 82
Options:

1) food cycles

Qre <shl

2) Food chains

QT Raaaf

3) Food system

@re yorferdt

4) None of these

T U DI TRl

Correct Answer: Food chains
Qe Jaansi

Candidate Answer: Food chains

Qe YT
QID : 193 - What is the aim of Pandit Deendayal Upadhyay Unnat Krishi Shiksha Scheme?

UfEd EiFeaTe SIS I Y Rl dioHT $1 IexT 71 82
Options:

1) To promote agricultural productivity

PN IACHd DI Tgrdl a1 & g

2) To promote agricultural health

DN WY B! §glal & & g

3) To promote agricultural education

P R &Y ggrar 37 & for

4) None of these

T A BIg el

Correct Answer: To promote agricultural education
P e I Fgrar &1 & e

Candidate Answer: To promote agricultural education

DY Rl DI Fgral o & g

QID : 194 - Which of the following is NOT correctly paired?
fafafed & 3 oF @1 g™ 98 6 87




Options:
1) E. Torricelli — Barometer

2) Neutron — James Chadwick

3) Penicillin — F. Banting
YRR — . S
4) Bevolver — Samuel Colt
- 3@ Pl
Correct Answer: Penicillin — F. Banting
IR - . sfen
Candidate Answer: Penicillin — F. Banting
e — . afd

QID : 195 - 'Ring' is the place where is played.
T 98 e § et Jar o gl

Options:

1) Boxing

2) Cricket

fopape

3) Fgotball

4) Skating

Wi

Correct Answer: Boxing

Candidate Answer: Boxing

TS XA et fUd Paad-Ia-geam Al & Uil & e te gl
Options:

1) Gateway

LECEU-RS

2) Minaret

firRe

QID : 196 - Alahi Darwaja is a to the enclosure of Quwat-Ul-Islam mosque at Delhi.

3) Dome
s

4) Arch

Correct Answer: Gateway
I gR

Candidate Answer: Minaret

QID : 197 - Shankha Ghosh has won which award for the year 2016?

Y 2016 & foTU IRT °IY T B W REBR SfidT 82
Options:

1) Dronacharya

FAIEID]

2) Arjun

3) Jnanpith

EIELE)

4) Nobel

BICK

Correct Answer: Jnanpith

Candidate Answer: Jnanpith

QID : 198 - Who is the author of the book named "Out of My Comfort Zone"?

"HTIT 3 AT HHe w" AHS WP & AWD HIF g2




Options:
1) Sachin Tendulkar

2) Steve Waugh

g af

3) Harbhajan Singh

BYHOT

4) Sunil Gavaskar

RGINRIIGES

Correct Answer: Steve Waugh
¥Ia af

Candidate Answer: Steve Waugh

4 o
QID : 199 - India became the first non-member of the Treaty of non-proliferation of Nuclear weapons (NPT) to have signed civilian nuclear deal with which country?

e 3 & W1 URG SRR TRATY] FRR TR GRIER PR aTal WH TRA] 8RR SR W (T9.4.AY) &1 IR ew 21 o9 TR 82
Options:

1) Japan

S

2) Nepal

Aurd

3) Pakistan
i

4) Indonesia

Correct Answer: Japan
S

Candidate Answer: Japan
S

QID : 200 - Bagan city, the world’s largest and densest concentration of Buddhist temples, pagodas, stupas and ruins is situated in which country?

TOTH AR, 3y & T 99 TUT 34 g Tier, TieT, U a1 TSR fod o2 & Ry g2
Options:

1) Myanmar

AR

2) Bangladesh

EILICeR

3) Bhutan
4) §ri Lanka

Correct Answer: Myanmar
AR

Candidate Answer: Myanmar
WiHR




